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GUESS PAPER: ODD  NUMBER CHAPTERS.

CLASS - XI
[image: image2.png]cbseﬁguess




Chapters: Odd Number of Chapters

1. In a survey of 400 students in a school, 100 were listed as taking apple juice, 150 as orange juice and 75 were listed as taking both apple as well as orange juice. How many students were taking neither orange nor apple juice.

2. For any two sets A and B show that P ( A ( B ) = P ( A ) ( P ( B )

3. Out of 500 car owners investigated, 400 owned car A and 200 owned car B, 50 owned 
    both car A and car B. Is the data correct.

4. Cot x = –  5/12,  x lies in second quadrant, find the values of other five ratios.



5. Prove that cos 2x = ( 1 – tan2 x ) / ( 1 + tan2 x ) by using expression for Cos ( x + y ) 


6. Prove that ( sin 5x – 2 sin 3x + sin x ) / ( cos 5x – cos x ) = tan x.





7. Prove that cos 6x = 32 cos6 x – 48 cos4 x + 18 cos2 x  – 1.






8. Solve the equation sin 2x – sin 4x + sin 6x = 0.







9. Prove that 2 cos ( / 13 cos 9( / 13 + cos 3( / 13 + cos 5( / 13 = 0





10. If x – ( y = ( [ ( a – ( b ) / ( c – ( d ) ] prove that x2 + y2 = ( a2 + b2 ) / ( c2 + d2 ).



11. Find the modulus and argument of the complex number ( 1 + 2 ( ) / ( 1 – 3 ( ).

12. In how many distinct permutations of the letters of the word MISSISSIPPI do the 
four I’s not come together.





13. How many words, with or without meaning, each of 3 vowels and 2 consonants can be      formed from the letters of the word INVOLUTE?

14. The ratio of the sum of m and n terms of an A.P is m2 : n2. Show that the ratio of
 mth  term and nth  term is ( 2m – 1 ) : ( 2n – 1 ).

15. Between 1 and 31, m numbers have been inserted in such a way that the resulting 

 sequence is an A. P. and the ratio of 7th and ( m–1)th  numbers is 5 : 9. Find the value of m.

16. Find the sum 0.15 + 0.015 + 0.0015 + …  to 20 terms.






17. If 4th , 10th and 16th terms of a GP are x, y and z, respectively. Prove that x, y and z are in GP.

18. Find the value of n so that (an+1 + bn + 1) / (an + bn ) may be the geometric mean between a and b.

19. If p, q, r are in GP and the equations px2 + 2qx + r = 0 and dx2 + 2ex + f = 0 have a commeon root then show that d/p, e/q, f/r are in AP.

20. Find the equation of the ellipse the end points of major axis are ( 0 , ( ( 5 ) and end points of minor axis are ( ( 1, 0 )

21. Find the coordinates of the foci and the vertices, the eccentricity and the length of the latus rectum of the curve 9y2 – 4 x2 = 36.

22. A rod of length 15 cm rests in between two coordinate axes in such a way that the end point A lies on x – axis and end point B lies on y – axis. A point P ( x , y ) is taken on the rod in such a way that AP = 6 cm. Find the locus of P and identify the curve.

23. Find    lim          tan 2x / ( x – ( / 2 )

               x( (/2  

24. Find the derivative of sin x + cos x from first principal.

25. Find the derivative of  ( x2 cos (/4 ) / sin x  

26. Find the mean variance and standard deviation using shortcut method.

Height in cm

70-75
75-80
80-85
85-90
90-95
95-100
 100-105  105-110  110-115 

No of Children
   3
   4
   7
  7
  15
    9
      6
          6
3
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